Properties of multiplication

thich ekpréssion sh‘owvs the idehtify property of multipl.ica>tion?

Oo2xo=0x2 Oox129 O (9x2x3=3x2)x9 [ 4x(5+2) = (4x5) + (4x2)
Which expression shows the commulative distribution of multiplication?

Ooxo=0x2 Oox1=9 O (oxx3=3x2)x9 [ 4x(5+2) = (4x5) * (4x2)
Which expression shows the associative property of muitiplication?

Ooxotox2] Ooxiz9 O oxx3=Gxx9 O axst2) = (4x5) * 4x2)
Which e#préssion shows the disfributive property:of mQItiplicétion?

Ooxo=0x2 Ooxi=9 O (9x2)x3=3x2)x9 [ 4x(5+2) = (4x5) + (4x2)

ldentify the multiplication property used in each question below.
6xXx1=6
the property is

ax/(bxg)=x(axb)xd
the property is

OXBI+7)=(9Ix3)+(9x7) |
the property is

8 = -8 x1]
the property is

50 x 520|= %20 x 50
the property is
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Properties of multiplication

thich e*préssion sh‘owvs. the idehtify property of multipl.ica>tion?

D2o-00 oxizo O oxoms- @3x2)x9 [ 4x (5+2) = (4x5) + (4x2)
Which expression shows the commulative distribution of multiplication?

M2x9 = 9x2 D 9x1=9 D (9x2)x3 = (3x2) x 9 D 4 x (5+2) = (47x5) + (4%2)
Which expression shows the associative property of multiplication?

Joxo=9x2 [ox1=9 E/A/( Ox2)x3 = (3x2) x 9 L) 4 x (5+2) = (4x5) + (4x2)
Which e#préssion shows the disfributive property:of mQItiplicétion?

) 2x9 = 9x2 Ooxi=9 O (9x2)x3 = (3x2) x 9 ,m/4 X (5+2) = (4x5) + (4x2)

ldentify the multiplication property used in each question below.
6xXx1=6
the property is identity

ax/(bxg)=x(axb)xd
the property is assiociative

OXE+NF(BxI3)+(9X7) | |
the property is distrubutive

-8 = -8 x1 ;
the property is identity

50 x 520 = 520 x 50
thelproperty is. _commutative
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